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Instructions:

Q1 TUW A ¥ TIW B T gft 144 km § QY 1 & 4T

TAAT IR I ¢, TH AJ IR @i B q, I 3 v

& e # gereht §, @ 7 12 9 a1g e §, AT afy
9

¥ TH-gat A 3N Tt § O § 8 5 P § | a9 T

d Toa grell R &Y Tl (km/h /) AT fifow

n 64

5 60

o 70
o 72

q.2. If the nine-digit number 43x1145y? is divisible by
88, then the value of (3x-2y), for the smallest value
of y, is:



n 22
By 18
o 20
pp 9

Q3. ,d edku rik ,d ndku e I AR;d dk ,d yk[k zi; e cpk
X;kA edku 1j 20% dh gkfu rFkk nidku 1j 20% dk ykHk gkrk
gA 1 Tkn e mBdk 1fj.kke jok&

A) u ykik] u gkfu
1
B) 2% yk[k - 1; dk vkt

1

o 12 yk[k zi; dh gkfu

1

o 18 yk[k iz dh gkfu

Q. 4. Ifg R HEAT &1 40%, 39F 60% ¥ km 30 km g, al
39 E&AT FT 20% fhdaT gem?

A 30
By 60
o 50
p) 40

Q.5 faeT & ¥ Fla-dY g 9 ¥ Qs 2

A 734895



B) 897342
o 594327
p) 346214

Q6. 40 faganfdai i wam #, 45% wsfhar § 3K AV T=F T
afe asfral garr wied 3wt @1 3itaa 54 § 3R wEH & g@rr
yTed 3@ FT A 46 7, ar gl fRgmnfiat qarr wrea st @

sitaa 4T 872
A 49.8
B) 49.7
c) 49.6
p) 49.5

Q7. 39 WEU F HEAT YT B 3H & AHfAFAA et
T, 0T ¥ HAF & Fhdr §7

A 0

B) 38

c 20

D) 39
Q.8. A, B 3R C o v& yawrd & fFan| A & fader &t
fa9re, B & N 3 & qur C & IR-In Adw & S g

I T A A ¥ C & REX F 74,863 37ar g, oY A 1 3

fordaT ghem?
A 9726
B) 6484
¢ 8105

D) 7272



Q. 9. 42%, 48, 65, 35, 55, 49 9Y g & 6 YHN DI Y BT A
————— |
n 49
s 47
o 48
o) 46
Q. 10. 15 IR FT B eI 12 TG & (A5 You & IR T | o 1 &I
EIRKGI
a >20% oy
B) 25%0 o™
o 25% =
o 20% =i+

Q. 11.  dfNe ®U ¥ IHglg M dell IHdfg &N R W, BIs [ =d i1 2
9 ¥ Rs.2,91,600 iR 3 a9 # Rs.3,14,928 & ot 2 | Rs.40,000 &1 1’1 & forg

I I 8 W, 2 99 H YIed gTeRoT gTol

(Rs. #) =ma & |

A 9,600
B) 7,500
o 8,000
p) 6,400



Q2. IR 2x + 1, x + 2, 2 3 5 WAGIYT 7 &, a
3.5(1-x) 3iX 8(1 + x) FT FEFUTT FIAT 82

n 5.5

5 4.5

o 5.25
o) 4.25

0. 13 45 - 50f (6.3 +-9)+7 x0.5 FT AW A ST

A 42
B) 50
o 45
p) 40

Q14 FRY 21T H207 =29 % { X 1 AT 7T N

A)

B)

N ©O W H»

Q. 15. §12,000 T TR FTUROT AT, X fFAT sF17 X W 34N
ot 8| I” 7T & dq1E, $HH 6,000 AR NI AT AR FaA



HAUT W AT A T F Woell T F FHEa anvem wT
T WA & I A, ST Y gT F Vol e & HhEa 9T
FY T 14T| WIer F HA A, AT F T H 2,800 FT 1A
fordT 9T, YRH H TS TS =TT &7 T IA0TAT FY?

A 16%
B) 12%
o 14%
pp 10%

Q. 16. IR U Rl ag, axas, a4 dMasdrada N g ard= g
fteron a;-100, a,-100, as3-100, a, -100 der as-100 o1 IR
T BAT?

n  N-40
s N-20

o N-150
p) N-100

Q. 17. I =fedt U a1 I 8 a9 gl © | 7 BH: 20 fiFe, 30 e, 40 M & SRt
TR goicll 8| 1 St Ud AT SFTell R B9 qort ?

A) T 10 T
B) XId 10 : 30 Tl

c) ¥d 11 I
D) T 11 : 15

Q. 18. T%h ¢ 36 Adhs H Uh WIM WchHH AR 20 Ths
¥ OichE R TS T ACH ®f IR dxal & | Ife ¢ &1 a1t 72 km/hr
gl o Dl ddg g ?




n 320 drex
s 360 ey
o 120 dieR
o) 240 #ex

Q1. U ST H, 1:3:5 F 3eaad & 25 ¥4, 10
T IR 5 A0 & e ¢ e 99 fAer & AR 5
40 ¥, & 5 ¥ & RFr Frawr ¥?

n 150
5 100
o 90
o) 250
Q.20. e o feu v u1w &1 cyaa HY 3R fev vyl @

MRrj nA

(Fif¥aa auf o <1 srerT—arenT fAgareral ¥ <1Raa gy faganfafar
dh L[ ; kA%



2013 2014 2015 2016

"Ta A "Ea B

fdl 0% ei nkuk fon;ky;k dk feykdj nkf[ky g, fon;kfFk;k dh

dy K[;k nljh Ich de Fh ?

n 2014
B) 2015
o 2013
p) 2016

Q. 21. e o QU 1T 916 &1 Stemy Y 3R feu v gy

d mRrj nA



(Mrga auf 4 <1 erFr—3a fagaeal 4 qiRad gu
fon;kiFk; k dh B[ ; kA%

80
60
40 40
i 35 35 -
20
20 - S— -
0 < ) T R (VT T i
2013 2014 2015 2016
"Tpa A "wa B

0 2013 el Ldy A e nkf[ky g, fon;kfF(;k dh B[ ;k vk o'k

2016 e nkuk Ldy e nkf[ky g, fon;kfFk;k dh dy

L[ ;k d chp dk vuikr D;k Fkk?

A 3017
By 4:19
o 4:23
pp 21:5



Q.22. fader: fa feu v ut% @71 egys &) 3R fev v yoAT
d mRrj nA

(Mrga auf 4 <1 erFr—3a fagaeal 4 qiRad gu
fon; kiR k dh [ ; kAY

80

60

- 60 o
U
40 40
B 35 35 -
20
20 - S— -
0 ] T R (VR T 1

2013 2014 2015 2016

T A "= B
~N o~

0"k 2015 ei nkf[ky g, fon;kiFk;k dh dy L[ ;k vkj o 2016 e
nkf[ky g, fon;kiFk;k dh dy

I[;k d chp dk virj fdruk Fkk?



A 25

B 22
o 15
p) 28
o.23. AT TfATATH F Forealr H 12 o 5 7

3R areT TegfAfaTe & qaer # 5 e o § at
T ATAIH AT 8 T A o1 wIed F: & fTw
fre qura # War 3R arer AT ger =mlee

N 34

e 1 1 2

o4 :3
o 2 : 1

3 _ R R
Q. 24. V15625 —Vx = 4 A * &1 A AT WY

n 81

B) 343
o 441
p) 625



Q. 26. In the sentence identify the segment which contains the
grammatical error.
The Japanese artist Yoh Nagao was busy splashing the

wall from colours.

A) splashing the wall

B) The Japanese artist

c) was busy

p) from colours

Q.27. Given below are four jumbled sentence. select the option
that gives their correct order.
A. But that is for an emotional reason.
B. Learning our mother tongue is important and everyone should
start there.
C. This is because proficiency in the language can lead to better
opportunities.
D. Learning English, however, is important for practical reasons.
A BADC
B) DBAC
co DACB



p) BDCA

Q. 28. Given below are four jumbled sentences. Select the option
that gives their correct order.
A. Its value is linked to what it is being used for.
B. Such questions often baffle you.
C. How emotional should one get about money and its value?
D. Money on its own has no value, until you have some use for it.
A DBAC
B) CBDA
co CABD
p) ACDB

Q. 29. Select the wrongly spelt word.
A) comparable
B) committee
c) consceince
D) commission

Q. 30. Select the wrongly spelt word.
A) hasitate
B) hasty
¢) hazard
p) hazy

Q. 31. Select the most appropriate option to substitute the
underlined segment in the given sentence. If no substitution is
required, select no improvement.

If you park your car here, the traffic police has fined you.




A) fine you

B) will fine you

c) fined you

p) No improvement

Q. 32. Select the most appropriate option to substitute the
underlined segment in the given sentence. If no substitution is
required, select No improvement.

It is convey to all the residents by now that they are required

to apply for parking stickers.
A) It will be conveyed to all the residents
B) It has been conveyed to all the residents
c) It is conveyed to all the residents
p) No improvement

Q. 33. Select the most appropriate word to fill in the blank.
His company has the ......... of producing the best cricket balls
in the country.

A) brand
B) opinion
c) position

D) reputation

Q. 34. Select the most appropriate word to fill in the blank.
India is the second largest .......... of cotton in the world.
A)  creator
B) producer
c grower
D) manufacturer



Q. 35. Select the synonym of the given word.

TRIUMPH
A)  victory
B) fight
c) attack
D) peace

Q. 36. Select the most appropriate synonym of the given word.
PENSIVE
A)  reflective
B) spontaneous
c) spiteful
p) tragic

Q. 37. Select the most appropriate antonym of the given word.
TRANSIENT
A) temporal
B) stationary
C) celestial
D) permanent

Q. 38. Select the most appropriate antonym of the given word.

ACCEPT
A) reject
B) acquire
c) obtain
D) release

Q. 39. [Eager to control the south Atlantic, the british navy had



tasked admiral byron (1) ........... settling an island off the south
american coast (2)............. ships could resupply, and then finding
an alternative (3).......... to the East Indies. After rounding the tip of
South America,

Admiral Byron confronted the world’s (4)............ body of water: the
endless Pacific Ocean. After a month of empty blue horizon, a tiny
island (5).......... Byron joyously described the island’s “beautiful
appearance - surrounded by a beach of the finest white sand - and
covered with

tall trees.”

Select the most appropriate option for blank no.1.

A) of
B) with
c) for
p) from

Q. 40. Eager to control the south Atlantic, the british navy had
tasked admiral byron (1) ........... settling an island off the south
american coast (2)............. ships could resupply, and then finding an
alternative (3).......... to the East Indies. After rounding the tip of
South America, Admiral Byron confronted the world’s (4)............ body
of water: the endless Pacific Ocean. After a month of empty blue
horizon, a tiny island (5).......... Byron joyously described the island’s
“beautiful appearance - surrounded by a beach of the finest white
sand - and covered with tall trees”.
Select the most appropriate option for blank no.2.

A) there

B) where



c¢) when
D) wherever

Q. 41. [Eager to control the south Atlantic, the british navy had
tasked admiral byron (1) ........... settling an island off the south
american coast (2)............. ships could resupply, and then finding an
alternative (3).......... to the East Indies. After rounding the tip of
South America, Admiral Byron confronted the world’s (4)............ body
of water: the endless Pacific Ocean. After a month of empty blue
horizon, a tiny island (5).......... Byron joyously described the island’s
“beautiful appearance - surrounded by a beach of the finest white
sand - and covered with tall trees”.

Select the most appropriate option for blank no.3.

A) means
B) road
c) route
p) path

Q. 42. Eager to control the south Atlantic, the british navy had
tasked admiral byron (1) ........... settling an island off the south
american coast (2)............. ships could resupply, and then finding an
alternative (3).......... to the East Indies. After rounding the tip of
South America, Admiral Byron confronted the world’s (4)............ body
of water: the endless Pacific Ocean. After a month of empty blue
horizon, a tiny island (5).......... Byron joyously described the island’s
“beautiful appearance - surrounded by a beach of the finest white
sand - and covered with tall trees”.

Select the most appropriate option for blank no.4.



A) more larger

B) large
c) larger
D) largest

Q. 43. Eager to control the south Atlantic, the british navy had
tasked admiral byron (1) ........... settling an island off the south
american coast (2)............. ships could resupply, and then finding an
alternative (3).......... to the East Indies. After rounding the tip of
South America, Admiral Byron confronted the world’s (4)............ body
of water: the endless Pacific Ocean. After a month of empty blue
horizon, a tiny island (5).......... Byron joyously described the island’s
“beautiful appearance - surrounded by a beach of the finest white
sand - and covered with tall trees”.
Select the most appropriate option for blank no.5.

A) appeared

B) came out

c) showed

p) stood up

Q. 44. Select the most appropriate meaning of the given
idiom
At snail’s pace
A Keep your moves secret
B) Do something very carefully
¢ Do something very slowly
p) Be very persistent

Q. 45. Select the most appropriate meaning of the given
idiom.
To bark up the wrong tree



A To eat an uppalatable fruit by mistake

B) T0 be wrong about the reason for something

c To bury money under a tree and forget the place
p) To be mistaken about the name of a tree

Q. 46. Select the most appropriate word to fill in the blank.
Necessary support to ......... the process of sale is
being extended by the banks in the consortium.
A Facilitate
) Complicate
¢ Felicitate
p) Confuse

Q.47.  Substitute the italicised part of the sentences: Never
has the inadequacy of police been in clearer focus that in the
communal violence that flared up recently.

A higher
B) stronger
o better
p) sharper

Q.48. Substitute the italicised part of the sentences: Ravi
has got many friends because he has got much money.

a) enough money

) a lot of money

o bags of money

p) No improvement

Q.49. Substitute the italicised part of the sentences: He
has cooked that meal so often he can do it with his eyes closed.
A mind blank
B) eyes covered



¢ hands full
p) No improvement

Q. 50. Select the correct indirect form of the given sentence.
Father said to me, “Are you going to keep me
waiting all night?”
a Father asked me if you were going to keep him waiting
all night.
B) Father asked me are you going to keep me waiting all
night.
¢ Father told me that you are going to keep him waiting
all night.

p) Father asked me if I was going to keep him waiting all
night.

Q.51.  nh xb Ji[kyk e vkx v{kjk dh dku Ih tkMh gkuh pkfg, ?
AB, DE, GH, JK, ?
A PQ
B RT
o UW
o) MN

Q.52.  ml fodYil dk p;u dj: €k Igh -1 e fjDr LFku dk Hkji vkj
Ji[kyk dk 1jk djA
145] 100] 65] 40] ?
an 20
B) 15
o 10
p) 25

Q.53.  ml fodYir dk p;u dj th pkFk in I mlh rjg bcfkr g
f€l 1dkj 1gyk in nllj in b cf/kr gA

MNQR :LMPQ ::?:RSVW

A WYTS



B VIWY
o STWX
p) SVWY

Q.54.  ml fodYil dk p;u dj €k rhilji in Iimhh rjg bcf/kr g
f€l 1dkj 1gyk in nllj in b Icf/kr gA
dkj & xjk€ & % gokb tgkt & ?

A) 9SS

B) ©R

0 TR IH
p) YiMX

Q.55. fAFATIT@T A<l Y 3T FH H TITT FY, oiF T
A AYechIr A AT & |
1-CATEGORY 2- CAPTION 3- CAPTAIN 4- CAPSULE 5- CAPACITY

A 5,4,1,3,2
s 5,4,3,1,2
o 5,4,3,21
o) 4,5,3,2,1
Q.56 fAFATAfE eeal N F arfde AR Aot w7 A

gafeyd &%

1-3fAsT freRor 2- #ffsT 3- e & YRR 4- wEaa
fhed 5- WUGST



A 32145

) 43512

o 12354
p) 31254

Q. 57. &N & 3 AT FT 94T FY, O IeW s[@en & N wym=l
W FAF T F N @ W y@ar gfY g e |
mn_pmno _ _ nopm _ op
A) oomn

B) Oppn
c) opmn
D) mMpmo

Q.58. SNl gleel & sast e 3147 31K 3 km Tax & 90 q0
AZHY 3 faem # g X @& ggwa & € 5 km e F@T @
q€ aT¢ {31 3N 4 km =, g8 T & a0 Aq371 3R 4 km 3R
oo g1 @ g X % ggaa & fAv 7731 3k @ war I 3@
STl 3eR-afRae faem & 3k 57 @71 ], Y 9% ged ¥ Awaae
e faem & gar u1?

A 3TX

p) ¥

o EfeTor-qa
D) ga

N

Q. 59. Find the related numbers-pair from the given



alternatives.
12 : 156 ::7
A 10:101
By 15 :340
o 10:110
oy 7:50

Q. 60. &l & IR I QU Y & R | o g (6l 7 (6 gaR | /9
g, Sfdid U g T 2 | T I Bl qIT BN |

A) IS : Qe

B) I : el A

Q) BN : A

p) ot : fofa

Q. 61. fr=forRad & | ST BT UgdH Y |

A) VXZ
B) PIt
o kmn
p) bdf

Q. 62. 99 W& I G T I Gll 9] 9 F 3T ¢ |

A [ -345
By 9-729
o 5-125
o) 3-27

Q. 63. IcBAT =9 3sRGROUND = 36, a BUILDING = ------

A 70
B) 06



o 81
p) 64

Q. 64. e SQUARE & TSXEWK & wU ¥ &cdg fbar orar g,
TRIANGLE &' &9 w9 % $cdg f&ar S|

n UTLESNSM
5 UTLFSMSM
o UTLESMSN
o) UTLESMSM

Q. 65. TR THT & Walu A 3R AT o1 & ART | FHIY ol © 3T o 9o
ol W T 2| I T O AHIE @ SR @S BN g, af Ol I ¥ B 2N

A) XJHY
B) Wqld

o 3ffd
D)W

Q.66. X, Y,Z P,Qvkl Rmrj dh vkj e[k djd ,d 1fDr e
cB gA X, Y vk Pdk iMklh gA Q, Z vk R dk iMklh g] P, X
d nk;h vkj g vkj Pvkj Z ,d nllj d fudVre iMklh gA

dku Tk tkMk fcYdy fdukjk 1 cBrk gi?

A Y.,P
By X,P
o Y,R
p P,Z

Q. 67. fn, x, fodYik el I ylr L[;k Kkr djA



IS
By 110
o 117
p) 108

Q68 AWSKaadxg Haraed = & Marapi+ 2R N~ aefg ar
for=1 o1 A9 T B?
13K7H?22.75M 27 N 13
A 17
gy 19
c 22
p) 18

Q.69. U 3G HT TIF I Ol U MU o9 a1 & 919 & Gae Bl qaieqd e
g

HDIV, D BHIOT R Fferacil bioT

£
(O

DO

Q.70. f&Q Y Sl AR Frewl o earyds ue iR 9a1y fob i+
a1 eyl arfes w9 A HUAT BT ATAIT T 2 |



dFku
thiku el dke dju oky: BHh oKkfud 1frHkk’kkyh gA
tkiku et dN phuh oKkfud dke dj jg gA
fu"d"
l. dkb Hkh phuh oKkfud 1frHk”kkyh ugh gA
Il. dN 1frikk’’kkyh phuh oKkfud tkiku e dke dj jg gA
1. BHO Bfrikk”kkyh oKkfud tkikuh gA
V. dN phuh oKkfud 1frikk”kkyh gA
n  @aa Freee 11 vulj.k djrk gA
g ddd freee | vulj.k djrk gA
o ad el vk IV vulj.k djri gA
p) @ad et 1 vkl IV vulj.k djr gA

Q. 71. Choose the option figure in which the problem figure
Is hidden/embedded.

Questions Figure:

%

1
Y
q
|8

Q. 72. T ey MU dori & g &1 ey | ok 1 Ry 1w 8 98 w9 g &



Bl H < T8 AFGHRI T 8, 9ol 81 8 Faed a2dl | =1 ydlid akil 8l 3R I8 iy
B & D A1 /4 Ty b 3R M¥ed U d AT 4 < T3 TGN BT ATER0T
RAT &/ B ¢ |

B

7B e, T B

Y e fid, e 2 |

B T, WRT 2|

fTpy:
|. 75 die), Rmer fd 2
1. %5 @1 inft &)

A dad Y 1 SR o 2 |

g) Al My | 3R 7 € ey | 3aRor &Rl & |

o wd @y | a7 | SR o g |

p) B BT | TRV FeAT & |

Q.73.  ml fodYr dk p;u dji tk ni.k di ck;h vkj [k €ku 1) n
xb vkdfr dh ni.k Nfo I lokf/kd ey [kkrk gA

i
||B |
HK
A) -
KB|
B) |
Kl
Q) l—
{8 >||
D) o

Q. 74. futufyflkr ei I: dku Ih mRrj vkdfr nh xb vkdfr dk 1jk
djxn?
1”’u vkdfr



C)

n

D)

Q. 75. uhp fn, x, 1”u vkdfr d vulkj ,d dkxt dk ekMdj
dkVk x;kA [kky: €kur 13 og] nh xbl vkdfr;k e 1] dilk fn[kkb nixk?

1”u vkdfr

L1 4l s
A) AAA
L
C) "

33
D)

Q.76. Tarfaf@d # ¥ i TG FT 3EEIOT AL &7

A AR

B) HATeIfedAr



¢ T
p) Refa=

Q. 77. 1967 # HRa & WiyuTr 7 versmwiat #r e 7 fwfafea A
¥ i & s HY anfAer frar = ar?

A) FIMY

p) faeft

o ded
p) dffer

Q 78. rafaf@a & ¥ Fla o i fadwar 78 2

A FEE dfE aF gsSTErEer AR vEd §
B) U& 9GRI-IGT HIT (95) HisE ©
o) FAIEHS IHTIRAT FhaT T

D) T&d 3EIEY BT §

Q.79. f=faf@a & & #iq W 7 qF fer # sgar areht 7Y 761 82

A) A

B) EJOT IW@T

C) TALRT
D) HEl

Q.80. WNUT F TN & fAT - M9 TF T 7 |

A FARIfRe 3T TS
) HIAT



) FIaeT AT iTFASE IR 9N
D) FIET 3713 JHiFATEs, Ul FARRG i TF F1 wFmer

Q.81. AT H ¥ &I AT FYT AF AT &F IR H Y AT 82

A F #RORYe a9RE w7 @ dFa F 9fd saRerh g @
B) HIs fAOus a7 R{Oys § a1 81?7 37 el W f39ar & aAdr #1
sifaw Aoty ghem
0 o fA9uF HFad NFTHT A & AU FAT T FHAT T |

p) ARYRYE & AeE 3T yrdaET dad et A 9 FAT F1
Fhar ¥ |

Q. 82. famfaf@a # ¥ — qdf are i we¥ =t =4 7 |

A)  Slggredcer
B) Heeg I
C) PIdATREeer

~

D) NATSHSI

Q. 83. WETHAHA ITATH ANSTAT-ITHOT FT oI - dh ‘T T o 3mar
3T HIET &

A 2021
B) 2022
c 2023



p) 2024

Q. 84. EELUE AR STeraryg AT FFAT G@RT FeerEt & gea A gfhar #
---- gl ST § |

A HEGC
B) 3TY&IIUT
c) 3Y&IUT
D) HEMEYOT

c

Q. 85. HTEX 3T W FH a7 6 germs afear g2

A TE
B)EI*JS!’?-IT
) I
D) SEHAYA

9

Q. 86. MR T IfAF FIaIor fFus Al & duR frar smar €2

A) ﬁF[aTRfI?T

p) faq &=t

0 IRABIE F IGeN
D) HET IMAF HAGHR

Q 87. 3N GIAAT & FaH oFS A T AT ol aqTel
AR wifa Fehfa & faw wfa aroq —— F geawr
Fqd faeT @gg 1 g § A (2020) e g 4w |



Q. 85. faFATal@d H ¥ W @ & AT gumace gl
FI gfaffsd ug s PR & FFafaa A ar ar?

A) QredsT
5 ARGSl
o e

o) asfled

[aN

0. 80. Hiza faordmst o fear I 9T v oSl

JraTs o HATTT BT Uh U] o7
a HIFG FEEH [darg #5370
5 TAT AN YEROT ATl
o ST HATY

o Hiedl 3N 9T fdp™T J31eY

Qo0 YRIP T ST 3 Alg $IFA’ & ol DI 572




a STATEN ST A8

5 NToTg U¥TQ

o IRER Joy¥Ts Ucdl
oy HBICHT e

001, Ife fdr 2’1 ° goie grer 7, 3N I8 Rerfa o«
THI dPb 941 &<l 7, I S9bT IR a7 8?7

A) STer”W quic

5 Adfold Folc

o &N g% H A

o dadl ol

Q. 92. feHdON 1929 & SNIH YT & b9 I H 26

ST DI YUl @RS & & & w9 | qF far 73 o,
T 9T & Fide M99 & dRRg & wd § HeiRkd

fopar ran?
MCEE]
B) ﬂﬂtﬂ?f[

C)?’nﬁ?

p)  Dholhcdl

0.93. “THP FITE 3Nl & o Hgredr el 5 o T
fhd=l X g @l 1?7

A 350 Hicl
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Answers:
1.C (2)A (3)C (4)a (5 a (6)c (7)b (8B (99A (10)B (11)D (12)C
(13)c (14)a (15)d (16)D (17)A (18)A (19)d (20)0A (21)C (22)A (23)
A (24)c (25)C (26)D (27)A (28)B (29)C (30)A (31)B (32)B (33)D
(34)B (35)A (36)A (37)D (38)A (39)B (40)B (41)C (42)D (43)A
(44)c (45)B (46)a (47)D (48)B (49)D (50)d (51)D (52)D (53)C
(54)B (55)C (56)C (57)C (58)d (59)C (60)C (61)C (62)A (63)D (64)
D (65)C (66)C (67)C (68)D (69)D (70)D (71)C (72)A (73)C (74)A
(75)B (76)c (77)b (78)C (79)D (80)D (81)B (82)B (83)B (84)b (85)
c (86)d (87)D (88)A (89)D (90)D (91)D (92)C (93)C (94)C (95)A
(96)d (97)d (98)a (99)b (100)B
Solutions:
Sol. 1. Sol. 2. Sol. 3. Sol. 4. Sol. 5. Sol. 6.
Sol. 7. Sol. 8. Sol. 9. Sol. 10. Sol. 11.
Sol. 12. Sol. 13. Sol. 14. Sol. 15. Sol. 16.
Sol. 17. Sol. 18. Sol. 19. Sol. 20. Sol. 21.
Sol. 22. Sol. 23. Sol. 24. Sol. 25. Sol. 26.
Sol. 27. Sol. 28. Sol. 29. Sol. 30. Sol. 31.
Sol. 32. Sol. 33. Sol. 34. Sol. 35. Sol. 36.
Sol. 37. Sol. 38. Sol. 39. Sol. 40. Sol. 41.
Sol. 42. Sol. 43. Sol. 44. Sol. 45. Sol. 46.
Sol. 47. Sol. 48. Sol. 49. Sol. 50. Sol. 51.
Sol. 52. Sol. 53. Sol. 54. Sol. 55. Sol. 56.
Sol. 57. Sol. 58. Sol. 59. Sol. 60. Sol. 61.
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Sol.
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77.
82.
87.
92.
97.

Sol.
Sol.
Sol.
Sol.
Sol.
Sol.
Sol.
Sol.

63.
68.
73.
78.
83.
88.
93.
98.

Sol.
Sol.
Sol.
Sol.
Sol.
Sol.
Sol.
Sol.

64.
69.
74.
79.
84.
89.
94.
99.

Sol.
Sol.
Sol.
Sol.
Sol.
Sol.
Sol.
Sol.

65.
70.
75.
80.
85.
90.
95.

100.

Sol.
Sol.
Sol.
Sol.
Sol.
Sol.
Sol.

66.
71.
76.
81.
86.
91.
96.



